






0.88888 + 0.8888+ 0.888+0.88+0.8 = ? 

(A) 2.34568           

(B) 4.34568           

(C) 4.43568               

(D) 4.43658        

(E) None of these 



107 ×107 + 105 × 105 + 40 × 70 = ? − 6400

(A) 31574            

(B) 31474              

(C ) 20034            

(D) 31674      

(E) None of these 



892.42 + 204.82 − 379.36   = ? − 3 

(A)681.24         

(B)720.90            

(C)678.20           

(D)672.50             

(E)None of these 



450% of 8400 = ? % of 600

(A)6150         

(B)6250          

(C)6300         

(D)6450               

(E)6425 



(3)² × (27)³÷ (9)¹ = 3ª

(A)9         

(B)8         

(C)7         

(D)6               

(E)None of these 



3256 ÷ 37  = 8 × ?

(A)11         

(B) 13         

(C) 15             

(D)17                

(E)None of these 



380 × 178 ÷ 19 − 82 = ? + 568

(A)2190         

(B)2880        

(C)2910          

(D)2770               

(E)2990 



416 ÷ 16 ÷ ?= 13

(A)4         

(B)2          

(C)5          

(D)3               

(E)None of these 








